Virginia High School League District Competition, 2000-01 season

Match #15


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the District level by Shawn Pickrell. These questions are to be used by individual Districts to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
Protests occured in early January after reporters at a public television station staged a barricade to keep their new boss, Jiri (YEE-ree) Hodac (HOH-dats) out of his job. Opponents claim he would be biased toward the two leading parties in this country, and President Vaclav Havel has backed the protesters. What is this country, with its capital at Prague?

ANSWER: the CZECH REPUBLIC
2.
From 1897 to 1900 he was exiled to Siberia for revolutionary activities. He caused the split between the Bolshevik and Menshevik factions in 1903, and was later exiled to Zurich. He returned in 1917, and emerged in power after the defeat of the ‘White’ forces. Who is this man, the first dictator of the Soviet Union?

ANSWER: Vladimir LENIN
3.
The narrator is assigned to take command of a cargo boat that is stranded in the interior of Africa. There, the narrator, Marlow, meets the company’s most successful sales representative, who has human heads mounted on stakes around his compound, but is dying. What is this novel, also featuring the sales representative, Mr. Kurtz, written by Joseph Conrad?

ANSWER: HEART OF DARKNESS 

First period (continued)

4.
THIS IS A COMPUTATION QUESTION. A cable TV customer pays $30 a month for basic service, and gets three premium channels at $10 a month each. Assuming he gets 77 basic channels, how much per channel is the cable TV customer paying?

ANSWER: 75 CENTS
5.
What name is given to a reaction where a compound or radical loses electrons, or an reaction where the oxygen content of a compound has been increased?

ANSWER: OXIDATION
6.
This novel contained illustrations by Garth Williams of the title character, her friend named Wilbur and other animals on the Maine farm where this novel takes place. What is this novel by E.B. White about a very intelligent spider?

ANSWER: CHARLOTTE’S WEB
7.
What is the identity element for the operation of multiplication over the set of real numbers?

ANSWER: 1
8.
Drug dealers use it to bulk out supplies of heroin since both are white powders with a bitter taste. What is this poisonous alkaloid in members of a certain plant family, most often used as a rat poison?

ANSWER: STRYCHNINE 

9.
After a British court let him out of the clutches of a Spanish judge due to his old age, a Chilean judge, Juan Guzman, is attempting to capture what 85-year-old former military dictator of Chile?

ANSWER: Augusto PINOCHET
10.
What is the name given to the solemn expression from a person giving evidence in court or making a sworn written statement that he or she is telling the truth?

ANSWER: OATH
First period (continued)

11.
These objects are observed as pulsars due to the tremendous amount of radio energy they produce. What are these stars that have collapsed so much under gravity that they shrink to a size of about 6 miles?

ANSWER: NEUTRON stars

12.
What painter is best-known for his ‘Athenaeum’ portrait of George Washington, which remains known every time a one-dollar bill is pulled from your wallet?

ANSWER: Gilbert STUART
13.
What empire based in southeastern Turkey did Egypt’s New Kingdom fight twice at the battles of Kadesh?

ANSWER: HITTITE empire

14.
What sort of clause begins this sentence? Whoever is captain of the team must be able to think quickly.

ANSWER: NOUN clause

15.
THIS IS A COMPUTATION QUESTION. A company was expected to post a profit of $200 million, but exceeded those profits by 60%. What was the company’s profit?

ANSWER: $320 MILLION
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What dynasty ruled China between 960 and 1279 AD?

ANSWER: SONG or SUNG
1B.
Who composed the opera Parcifal?

ANSWER: Richard WAGNER
2A.
What is the term given to the application of a zinc coating to iron or steel to protect against atmospheric corrosion?

ANSWER: GALVANIZING
2B.
THIS IS A COMPUTATION QUESTION. What is the geometric mean of 3 and 5?

ANSWER: SQUARE ROOT OF 15 

3A.
What is the name given to an independent solo vocal piece contained within an opera?

ANSWER: ARIA

3B.
What is the term given to a word, phrase or verse that reads the same backwards and forwards?

ANSWER: PALINDROME
4A.
THIS IS A COMPUTATION QUESTION. What is the slope of the line between (-1, 3) and (-5, 6)? 

ANSWER: NEGATIVE THREE-FOURTHS
4B.
Who was the British colonel that assisted the Arab Revolt in 1916, a story which later became a movie named for him?

ANSWER: T.E. LAWRENCE (Lawrence of Arabia is OK) 

5A.
What word, coming from the Latin words for “forward to tomorrow”, means to put off doing something until a future time?

ANSWER: PROCRASTINATE

Second period (continued)

5B.
What is the largest lizard currently alive in the world?

ANSWER: the KOMODO DRAGON
6A.
What two states in the northwest United States have the Continental Divide as their border? 

ANSWER: MONTANA and IDAHO 

6B.
Who played Stanley Kowalski in the movie, A Streetcar Named Desire? 

ANSWER: Marlon BRANDO  

7A.
What is the largest organ in the human body, approximately 19.4 square feet in surface area?

ANSWER: the SKIN
7B.
The ratio of 1.618 to 1 is given what adjective to describe its beauty and occurrence in natural objects?

ANSWER: GOLDEN
8A.
Anton LaVey is the founder of what church? 

ANSWER: Church of SATAN 

8B.
What American author wrote the novel, The Marble Faun?

ANSWER: Nathaniel HAWTHORNE

9A.
THIS IS A COMPUTATION QUESTION. What is the area of a semi-circle whose arc-length is 12 PI?

ANSWER: 72 PI
9B.
James Weaver was the best-known candidate of what political party, running for President in 1892?

ANSWER: POPULIST party

Second period (continued)

10A.
The Kalevala is the national epic of what Scandinavian nation that also produced composer Jean Sibelius?

ANSWER: FINLAND
10B.
What is the name given to the large evergreen forests that are present through much of Siberia?

ANSWER: TAIGA
Third period: 15 toss-ups

1.
What geologic period is named for the fact that much of today’s coal was formed from rotting vegetation from this period?

ANSWER: CARBONIFEROUS period

2.
What is the integral of the function 6X squared plus 4X plus 7?

ANSWER: 3X CUBED PLUS 2X SQUARED PLUS 7X PLUS C (prompt in the PLUS C is not included)

3.
Steppenwolf and Siddhartha (see-DAR-tha) are the two best-known works by what German spiritual writer?

ANSWER: Herman HESSE
4.
In 1965, this man from Michigan was named as minority leader in the House, a position he held until 1972, when he was nominated as Vice-President, following the 25th Amendment’s guidelines after Spiro Agnew resigned. Who is this man that then became President in 1974 when Nixon himself resigned?

ANSWER: Gerald FORD
5.
The painter Domenicos Theotokopoulos (thee-oh-toh-KAW-poo-lus) received what two word Spanish nickname based on the country of his birth?

ANSWER: EL GRECO
6.
This American writer disappeared somewhere in Mexico in 1914. Who is this writer, known for short stories such as An Occurrence at Owl Creek Bridge, and satirical works such as The Devil’s Dictionary?

ANSWER: Ambrose BIERCE

7.
In 1655, a brief war occurred between the Dutch and this other European nation over northern Delaware. What was this nation, which had no other colonial possessions in the Americas and built Ft. Christina near present-day Wilmington?

ANSWER: SWEDEN

Third period (continued)

8.
What state is the subject of a boycott by the NAACP due to its refusal to remove the Confederate battle flag from the grounds of its state capital?

ANSWER: SOUTH CAROLINA
9.
With formula CHCl3, this compound also called trichloromethane was once used as an anesthetic. What is this substance that is today best known as the favorite method moustache-twirling villains use to make their kidnapping victims faint?

ANSWER: CHLOROFORM
10.
THIS IS A COMPUTATION QUESTION. A website gets 1 cent when a banner ad is placed up, and 10 cents every time that banner ad is clicked. Assuming a click rate of 1%, how much money will the website make if the website is accessed 1 million times?

ANSWER: $10,900 ($9,900 from the 990,000 times the banner is not clicked, plus $1,000 from the 10,000 times it is clicked.)

11.
His hits include “Lovesick Blues”, “You’re Gonna Change Or I’m Gonna Leave”, “Why Don’t You Love Me”, “Move It On Over” “There’s a Tear in My Beer” and “Cold, Cold Heart”. His gospel recordings include “I Saw The Light.” In1952, the Grand Old Opry fired him for constant drunkenness, and on New Year’s Day in 1953, he was dead. Who was this country singer? 

ANSWER: HANK WILLIAMS Sr. (accept HANK Sr.) 

12.
What is the name of the congenital disorder where the arch of one or more vertebrae fail to develop properly, leaving the spinal cord open to damage and possibly leading to paralysis of the lower limbs?

ANSWER: SPINA BIFIDA
13.
There are not actually 1,000 bytes in a kilobyte, but rather what number of bytes in a kilobyte? 

ANSWER: 1,024  

Third period (continued)

14.
This novel was based on a legend of a spectral animal that haunts Dartmoor in Devonshire, England. The story is set in the moors around Grimpen Mire, where the title animal howls for blood nightly, preferring members of a specific family. What is this novel featuring John Watson and Sherlock Holmes?

ANSWER: HOUND OF THE BASKERVILLES
15.
Today, its power has largely been stripped and it can only send bills back to the House of Commons for reconsideration, not kill them entirely. What is the name of this non-elected house of Parliament?

ANSWER: House of LORDS
Spares

What is the process of producing a gas or vapor from a liquid by heating the liquid in a vessel and condensing the vapors into liquids, used in the petroleum and whisky-making industries?

ANSWER: DISTILLATION
Which Biblical prophet had a vision of a man with a head of gold, but feet of clay? 

ANSWER: DANIEL 

What document, drawn up at the Belgian town for which it was named in 1854, declared that the United States should try to buy Cuba, and if that failed, should use war as a method of obtaining the island?

ANSWER: OSTEND manifesto

THIS IS A COMPUTATION QUESTION. What is the perimeter of a square with an area of 169?

ANSWER: 13

Who is the author of the novel, One Flew Over the Cuckoo’s Nest?

ANSWER: Ken KESEY
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